Name: Math 7.2, Period

Mr. Rogove Date:

LEARNING OBJECTIVE: We will identify the steps used in solving equations
and understand a few steps we CANNOT take when solving equations. (Alg1M1L6)

ACTIVATING PRIOR KNOWLEDGE:
We understand different properties used in math. _—~_

Why do the equations (x — 1w= 17 + x and((x + 3)(x — 1) = 17 + x have
the same solution set? C Q
OMMUTATINE ov.

Why do the equations @: mé} =17 + x and x? + 2x — 3 = 17 + x have the
same solution set?
DISTRBUTWE  ©Rof,

Why do equations (x —1)(x +3) =17+ x and (x — 1)(x + 3) + 500 =517 + x

have the same solution set? ?R 0 PER T\/ DFE L;QUAL rw P/ A—DD lﬂD(\J

Why do the equations (x — 1)(x + 3) = 17 + x and 3(x — 1)(x + 3))= 51 + 3x

h h luti ?
ave the same solution set? FRDPEV—TY DF E@UA‘/VW Q{MULTLPUZC'A Tl())*—/

CONCEPT DEVELOPMENT:

Solving Equations Requires us to make use of the Commutative, Associative and
Distributive Properties AS WELL AS use properties of equality to find a solution for
a variable.

Example: x(1 — x) + 2x — 4 = 8x — 24 — x?

x—x%+2x—4=8x—24—x? / Distributive property

u
x+2x —4=8x—24 Added x? to both sides of the equation ?ﬂb? FENA 17

T2 * ¢ asvormed

3x —4 =8x— 24 Collected like terms
3x + 20 = 8x Added 24 to both sides of the equation I‘,‘Dbmo
20 = 5x Subtracted 3x from both sides ofth& M;Emﬁu’(y )l
equation F l GuBL
x =4 Divided both sides of the equation by 5 - M;ENALUV
F / D\\n‘}[m\)

What is the common solution to all 6 equations listed above? How do we know?

BY o e which lie e srbghivie Guc o
\/bd wm W\”\\}A‘QM 6%0&(\({'\{ Yo\s(‘ Q.GOUA\‘l;vs
N‘(QQ o %BUQQ
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What are some things we need to look out for when applying the rules of equality

and rules of arithmetic?
2 2
X\ 1
12) |3

1. If we do something the left side of the equation, we have to do the same thing to
the right side, correct?? What about eliminating both denominators and just saying
that x = 1. Why doesn’t that work? K =\

2

2. What about squaring both sides of the equation so that 5: = é.

Does this change the solution to the equation? -
& q NES: % skl e»o\}aﬂ,s “,

&9\"\’ g 4 « q\gb o- @DSS\-\O\‘O SDLU'\'(\G"\.

GUIDED PRACTICE:

. Steps for Solving Equations AND Identifying the Steps Taken

. 1. Simplify your equation step by step using properties of equality and properties of |

 arithmetic.

i 2. Identify each step along the way.

. 3. Check your solution by substituting your simplified answer into your original
| equation.

Solve for x and describe the operation used in each step along the way.

7x — [4x — 30 — )] = x + 12

fy mﬂ -+l DSTRRME ey

T -4 +3%-3 =re12 DSTRRNE ~ {htesy
bx-3 =x+l3.  COMBINE LIke TERMS

5%-3 = (o PR0P. oF EDKLITY B2 SuBTEATH

<

X =3 PRoP. oF EVOKLITY B2 wiitip

| (5@: (5. PRop. oF EDokLITY B2 A Ddrqcof

L CAT
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Solve for x and describe the operation used in each step along the way.

2[2(3 = 5x) + 4] = 5[2(3 — 3x) + 2]

2(6-10x ) =5 ((-bxed) DisTMBME FROP

a(lo—tox) =5 (3-6% ConRlNg LWe TErg
A0 -Qox = 40 -30x DisTUpME  ORoP,
Ad +(0 x = "{@ ?RDP OF EDUMW}’ B A D) I’T(O)\(
[0x =40 PRoP. oF EVIKLITY BR SuBTRIHY
X= . PRP. oF EDOkLITY ®we DIV SN

125

Solve for x and describe the operation used in each step along the way.

§(18—5x) =§(6—4x)

ied
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INDEPENDENT PRACTICE:

1. Consider the equations x + 1 = 4 and (x + 1)? = 16.

a. Verify that x = 3 is a solution for both equations.

b. Find a second solution for the second equation.

c. What effect does squaring both sides of an equation seem to have on the solution set?

2. Consider the equation x — 3 = 5.

a. Multiply both sides of the equation by a constant, and show that the solution set did not
change.

b. Now multiply both sides by x. x(x —3) =5x

Show that x = 8 is still a solution to the equation.

c. Show that x = 0 is also a solution to the new equation.

d. Now multiply both sides by the factor (x — 1). (x—Dx(x—3)=5x(x—1)

Show that 8 is still a solution to the new equation.

e. Show that x = 1 is also a solution.
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CLOSURE:
Closure is exit ticket to be collected...homework if necessary?

NOTES:
This lesson maps to Lesson 12 and 13 in Algebra 1, Mod 1 of ENY.
Homework (inclass??) should be exit ticket for exit 13
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